AR R

s 5z EESSHBARLEE

15 | EETHER
A & B B 2024%581H 9:00

ARBITH A R 4112EBE GGIEE4F)

E S = £ 1 2 3 =
ey e EAL
13,800

HEL A S—
15,000
BEERE T S—
15,500
R O& AHEZRHSE ¥ 13,800

(FR)= BT FEHEFECI0%ME) ¥ 15,180



AR R

e @ oz ALHIEGERLE

15 | EETHER
A & B B 2024%581H 9:15

ARBITH A R 4112EBE GGIEE4F)

E S = £ 1 2 3 =
ey e EAL
25,050

HEL A S—
27,000
BEERE T S—
27,300
R O& AHEZRHSE ¥ 25,050

(FR)= BT FEHEFECI0%ME) ¥ 27,555



AR R

AR EEBRYKRERREBERE

E 3 % %
5 Fr | ST FHREEMN BN
A & B B 2024%581H 9:30

A A BT ERR

TR 41128 (BIEE4F)

£ = % 2 3 &&
1 |{T7I7 iR iR
2 CENEREIE®RD R R
3 ((B)mINEE iR R
4 HMEHRGR iR iR
5 |[(BR)VILY R iR R
6 ERHIE®HR
690,000
7 B=FVITVY
640,000
8 M=—VTIEE
687,000
9 |(BRFEX iR iR
10 | (BRYEERETER &AL
475,300
1 | BEEEG iR R
12 |(B)EEBRHt 31 iR
13 | EBRFREREEEH)
890,000
14 | (BR)RARA iR R
15 | SFhE#ES R iR
16 | U TFEIRAFEGER 31 iR
17 | TV5
870,000
] AHEEHSE ¥ 475,300
Kt Lk EALLBE(10%ME) ¥ 522,830



AR R

w % g INERTIVRCEEHFEERERERT

15 | BETRNER 8RR

AR F A B 2024%581H 9:45
AR BATIH R WERET 4112%= (RIEE4F)

E S = £ 1 2 3 =
1 GknEsEE 4—
820,000
2 AT SAILGE) %L
783,000
L A= AHERHLE ¥ 783,000

W7 27V LS 10 %NE) ¥ 861,300



AR R

% % g BEHIIWIPPREERI-BTFEASFE

18 B EEmE ek

AR F A B 2024%581H 9:55
AR BATIH R WERET 4112%= (RIEE4F)

E S = £ 1 2 3 =
HOFHER EAL
4,750,000

e
7,170,420
BRBBTEENE
5,391,150
B AW
6,500,000
E A& AHETHSE ¥ 4.750,000

(BB EIEBE(10WME) ¥ 5,225,000



AR R

THEEBIHEDRRE - BT —EXFADTUSERES

E 3 % %
15 | BBETmRAEhEXER
A & B B 2024%581H 10:05

A A BT ERR

TR 41128 (BIEE4F)

E S & % 1 2 3 e
(B)Fvr R
1,430,000
(BR)3 5 A ENRIART AL
523,250
B)ERF
812,500
& ) AHELHEE ¥ 523,250
()Y ERIFR EANLE(I0%ME) ¥ 575,575



AR R

e 5 EBETARERERRESREO)EEER

12 B BB TR bR

A i F A B 202455818 10:15
AR BATIH R WERET 4112%= (RIEE4F)

£ = % 1 2 3 &&
1 | EARERER) iR iR
2 | FVVYHR-TFI)TF4—R(Fk)
4,900,000
3 ANBRRE EAL
3,561,000
4 (BEE iR iR
5 ®RERETVY iR iR
6 HRERFEL iR iR
7 EEITZH) iR ##E
8 (BUREESI Xt iR iR
9 (K= FE=E iR iR
10 Sy a—TEH) R iR
11 |(BR)iEEH iR R
12 | E—YIERR)
4,820,000
13 | (MREBIE iR R
14 | (BR)FHFN iR R
15 |(BR=FV o799 R iR
16 | ETERTYY 31 iR
17 | IAREZE () iR iR
& L =& AHLERHSE ¥ 3,561,000
L EALSE(10%ME) ¥ 3,917,100

i@ R6.5.1EALERE DRBEEAALMAEIAEHIE). R6.5.107FILFIRE



AR R

e g g BEBETARERERRESR(Z0)EEER

12 B BB TR bR

A i F A B 202455818 10:25
AR BATIH R WERET 4112%= (RIEE4F)

£ = % 1 2 3 &&
1 | EARERER) iR iR
2 | FVVYHR-TFI)TF4—R(Fk)
6,400,000
3 ANERRE
4,884,000
4 [((BRHE iR iR
5 ®RERETVY iR iR
6 MREREET iR iR
7 EEITZH) B ##E
8 (BUREESI Xt iR iR
9 (K= FE=E iR iR
10 Sy a—TEH) R iR
11 |(BR)iEEH iR R
12 | E—YIERR) EHL
4,395,000
13 | (MREBIE iR R
14 | (BR)FHFN iR R
15 |(BR=FV o799 R iR
16 | ETERTYY 31 iR
17 | IAREZE () iR iR
# A& AflZE#iem ¥ 4,395,000
FMEW) EANLE(I0%ME) ¥ 4,834,500

i@ R6.5.1EALERE DRBEEAALMAEIAEHIE). R6.5.107FILFIRE



AR R

> % g BEHmRA—a—FY—)L (kintone) T/ RB A X

5 fr | &

A i F A B 202455818 10:35
AR BATIH R WERET 4112%= (RIEE4F)

E S = £ 1 2 3 =
(B TH A4t 58 5B
NECRYY IR T A (¥k)
9,646,000
(B EEatR 58 5B
EEE T A AL
5,390,000
& R & AfLEZSXHSE ¥ 5,390,000

FERXRED) ZFHEE(I0%ME) ¥ 5,929,000



A fL &

R X

2 7% 2 [FLCEBEBAER
B fr | BETIHBAR
A # & A B | 202455818 10:45

A A BT ERR

TR 41128 (BIEE4F)

* % 1 2 3 &
B R R #AL
148,800,000
DT HRAK T TR e 5#iE

#)E)A
149,300,000
A B e AALERBSE Y 148,800,000
CRIEE AR R BRI AL 10%ME) ¥ 163,680,000



AR R

mA— AR E(RER B EXH R

ES #% %
12 i mEET mR—
A # & B H 2024F581H 14:40
AK BT B R W& 4112EE (BIEEF)
E S 5 £ 1 2 3 -5
FEF A
1,860,000
Bl E AL
1,194,000
ERBREII—>
1,610,000
CESEFEEGH)
1,830,000
FEZ FERE R 221
(BB ®EE
1,480,000
(B EBENE
1,745,000
YA R EHR
REFEE 5 eSS
% ’ZL H AtLEREEE ¥ 1,194,000
BEER ZFHEE(I0%ME) ¥ 1,313,400

i@ R65.1EAZREDRE EAFLMARFESIE) . RESSHFILFRE KIEELE(M4E1,185000



